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NOTE: State the reasons how and why vour reach the answer. ZERO point if you simply

give the answer.

1. Consider the code shown below, what are the outputs of the code? (10%)

5. Consider the code shown below, what are the outputs of the code? (10%)

2. Consider the following declaration of a ‘two-dimensional array in C:

Assuming that the main memory is byte-addressable and that the array is stored starting
from memory address 0, what is the address of a[30][4017 (10%)
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9. Consider the code shown below, what are the outputs of the code? (10%)
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6. Consider the code shown below, what are the outputs of the code? (10%)

7. Consider the code shown below, what are the outputs of the code? (10%)

10. Consider the code shown below, what is the purpose of the code or what will you describe
XXX? (10%)

8. Consider the code shown below, what are the outputs of the code? (10%)




